20244104238

FA%1 2R EE4ILERA TRERIC

' E 2 BRBA

2R EEFIGHATRIEIC ! B 2 BRBH
Y5ITLy FR 2% T2

1000m 9—I~ a
E 3 1:01.8
741.\ iT 1:01.1

H& 50, 14, 10.5, 7, 3.55M
> BRERMMGRE - 534 149 544 14 435 14 454 13
L—Z5yJ{EF : MSS 5 MMM 3 SMM_3 SSS 3

D591

HER | PREN | BEMES it 3R E AR 14TE=RFMER Bk BigE (& B) Zhyvavtt B 2TE=L-28 LT 'lﬂ MTH=#IE - FE- AK A
B F | %BAMNBZLT[B £roi10%| B F 1000n |HTE=RHAKE - &8 BHF-T 2, 3, AABBIEE STE=IEA - 1—X - BigKE 244 EAYBF
B 26 | B 2 |EnEE/rE|m  4EuT |8 7 1200n [67H=L—R R—XBI3F - sl - H%3F HEL, WFH, S)EL\) W43 Fyh EEIRE A9-h~4F - 3 ~4f8 - %IF(5~1) LY 3 FIEM
HEEARGERES WH | £ 5 | F10008H (s & | By | L—ALYSFEAL - HBEOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE BroX | BERM | o 1ARM | # TEFR| M % i700m i WA E 3R AFERT 5ERT
RZXF9+—07 H2 |14 | A:::: |MZ0021 |F 0011 |24710.10 18 F Fial | 24.09.24 16 F 15l | 24.08.08 16 & Fi%l
HI—443Y HEHE JH0000 [ FZ001.0 | 28 K M| 2% KB % | JRARE #5
55.0 .194 A40021 [ FH0000 | 3 115 9% 3A 4 [ 3 128I12%E 3K ks |4 108HI0F 4N K4
T[1|a|Fyu7ormEy [ PR 1028®) | £40.0.0.0 | F750.0.0.0 [ 452 -10 /G4 56 (BB | 462 0 HRE 55 @ | 462 =NE 54
(FUHARIYK) t?ﬁféJ PR 1028®) | B4 0.0.0.0 | F+£0.0.0.0 | 1200m % B 1:17.0 39.2 | 1000m % B 1:02.8 37.8 | 1000m % # 1:04.1 40.1
puLT e [%]] 0021 [ %0020 |£40021 ]| @3 --- 37.6-38.4 353 (6) 38.4 345 (2) 38.6 442 (4)
EEE 0.0.1.1 | #05£0%0:80 | £ 0.0.0.0 | F1:8 0 0 Ya9/3y ¥4y (1.0) ¥k | 25279 (0.6) Seakse | 24vhv (1.7 H5e8
CEPARS EZA RN T |MZ0008 [ F 0005 24092416 F Fi5l |24.00.11 17 F Fial |24.08.28 15 F Figl | 24.08.13 18 F B0 |24.07.31 13 F [l
ky FHRTAIL I JA 0000 | F=0000 | 25% 3 28% 2% wm | 2 B 2% | Y F— 2 | RV LUK 2%
J 55.0 .251 £40008 | FH50000 |9 128E11%& 9N X4t |5 1288 9FI0AN 4+ [ 11 1288 5B 4 128810F10A 4+ |9 1288 8% TA
A 2 RN A vE— RBE | BFE PR 10326) | £40.0.0.0 | F750.0.0.0 | 468 0 FUAH 55 Q)| 468 +2 EAEE 55 @DD| 466 +4 Bk 55 ©O| 462 +4 Bk 55 QD] 458 -4 Bk 55 @@
(RYY—vE—A—) L3538 247| PR 10326) | EA 0.0.0.1 | F+£0.0.0.0 | 1100m 4 B 1:11.0 41.1 | 1000m 4 B 1:03.2 37.7 | 1000m & & 1:04.3 39.0 | 1000m 4 # 1:03.9 39.8 | 1000m 4 #§ 1:05.0 40.6
wosE [%]] 0008 [%£0002 240008 :-®®-0 38.3 431 (10) 3.6 234 (3) 37.4 232 (1) 39.0 533 (10) 37.9 431 (9)
WOBAE 0.0.0.6 | #05£020i80 | £ 0000 | %38 0000 | Faafb" 213 1)  KIBE [y A U-(1.4)  #E% | v -5y 13 1 S | #4%0.9) sk | T pvk £(3.8) sEkE
FL7+> H2 |12 B A:::: |[MZ0005|F 00071 247100816 ¥ il |24.09.26 13 F ial |24.00.05 12 + 18l [24.07.03 11 F Fi80 | 24.06.13 14 F 50
2FLAEI 4+ |FHE J%0000 | ¥Z0002 |2 2| | 2 2% | 2 2% | 2 2% | JRARE wE
56 o .281 A40005 [ FH0.000 |7  12810% 3A 4+ |12 1288 2&I0K MW |7 788 7% 6A s |8 1288 THIOA 5 87 8& TA K4
3K EEES B F9%4 10450 | £40.0.0.0 | F750.0.0.0 | 444 0 FJIIfE 56 QO | 444 +4 FRE 56 DO 440 +10 ¥adfh 55 DD [430 0 ¥ah 55 @DD| 430 #FHEH 5 OO
(B4 %S v hL) it>§€1 9% 10450 | T4 0.0.0.0 | F+£0.0.0.2 [ 1000m & # 1:04.5 37.5 | 1200m & B 1:18.7 41.1|1200m % B 1:18.3 40.2 [ 1700m % # 1:57.0 41.0| 1700m 4 B 1:58.3 41.2
RAEILR [#]] 0005 [£0003 |£40005| 0@ -0 3.7 234 (2) 36.2-39.1 212 (10) 36.0-39.7 233 (7) | SSH 39.2 152 (7 | SSH 38.2 341 (5
fatmAR 0001 FHO%E00E0 | £ 0.0.0.0 | 3B 000 1| 9 4h-Y7a-4 (1.9) &k | 3A9-$99(3.4) HEHEE | V-5 h(2.6) 3%k | 749(3.5) K | $v9°3229-(3.5) sk
FoFT—ILF H2 O: ::: |MZO0I1.6 |+ 0114247100821 ¥ FIal |24.09.25 16 F Fipl |24.09.1213 F Fial | 24.08.29 15 F Figl | 24.08.14 10 & Figl
EF—F—T)— ﬂE‘:‘ﬂ!& % 466-466 | 4 0.0.0.0 | FZ0.0.02 | 2 2% 2 28% 2 2% 2 2% 2 2%
56.0 .236| fr 56-56 FH501.1.6 | FH0000 | 2 1282& 4N B |7 1288 3% 8A 9 1288 9% TA s |7 1088 7% 6A 4t |11 1288 8% TA
Ll 4|0 | sr=y—> LR+ 9% 1027@ | £40.0.0.0 | F750.0.0.0 | 466 0 BRER 56 DD | 466 +8 fRERE 56 ©O@| 458 -4 WA 54  ©O@| 462 0 HiEH 55 ©®) | 462 0 FI% 53 @D
(RY¥/ by THY) 3558 057 PI#§ 1027@ | WA 0.0.0.1 | F+£0.0.0.0 | 1000m 4 # 1:02.7 37.8 [ 1000m % B 1:04.3 38.9 | 1200m & B 1:17.9 39.5| 1200m % # 1:18.2 40.1| 1000m 4 % 1:04.5 39.1
$21977-4 [%]1] 0.1.1.6 [ 0.1.0.2 [ 240116 | - @-0-®-0 3.7 534 (5 39.0 224 (3) 37.0-38.9 233 (9) 36.3-40.2 344 (3) 3.4 232 (9)
IMBFREA 0.1.0.1 | #1%0%0580 | £%0.0.0.0 | P18 0115 [ 4" 4b-Y7a-4 (0.1) %3k | 149-9(1.3) SERkE | N 9yav7 UR(2.0)  BEEE [ N ANAY UV (LT SkkE | M RRE 1) KEE
ARASR=—% H2 z/\#ﬁa EEEE "ﬁ;o.o.o.z F 0002 23_10. 08 11 ;;;u 23.09. 269 F g;ﬂu
N J&0.000 | FZO 0 5
RAYILIILT 56.0 133 50002 | FH0000 |12 198 5% 9A 8 " om 3% 5A
5(5 O4¥Ly— BE | MHE PIH4 1076@ | £4 0.0.0.0 | F750.0.0.0 | 454 -4 #234h 56 @@ | 458 a4 56
(Monsun) Jtifgit 140| FIFE 1076@ | £40.0.0.0 | F+£0.0.0.0 | 1000n & # 1:07.6 39.6 | 1000m & B 1:10.2 41.3
FHER N [#]] 0002 [£0002 |£40002]| ®-®: - 3.7 132 (11) 38.6 231 (7)
HEEE 0.0.0.2 | 305030580 | £ 0.0.0.0 | 1B 000 1|9 (b-Y7a-4 (5.0) 3k | W7 V44 (7.3) ks
DT REF U — 52 | 11 B ::::: |[[M50003|F 0003 |2400.2413 F Mgl |24.08.28 13 F Pzl 24 oa 1517 F  fial
IA UhF [SET J40.0.00 [ FZ0000 | 2 B3] 2% | 2m4tE 2% ARE 5
gl 55.0 222 £40003 | FH0.000 |11 12811% 8A K4k |10 1258 5% 8A 9 11p§11§ 1A Kot
(Yl 6 ILG4IY R B | 258 FI7 10430 | £40.0.0.0 | F750.0.0.0 [ 412 +4 ZFI 655 (@D | 408 -6 =Wk 56 @@ | 414 Z=Wk 55 @
(FTANESyoa) JitgsE 157| PIF 104300 | T4 0.0.0.1 | F4£0.0.0.0 | 1000m &4 B 1:05.6 38.9 [ 1000m & 7 1:04.3 37.9 | 1000m % # 1:05.7 38.9
KA [#]] 0003 [Z0001 |£40003 ]| - @ @ 38.4 123 (1) 37.8 134 (5 39.0 134 (4)
B ER 0.0.0.0 1109e0§0150 £ 0000 |38 0001]|3v19@3.4) Sk | T4-2 Y5 (2.6) HHEE | 5 UANTIEL(Q2.2) RER
RAF9+—1U7 2|18 [FIZ 0116 | ¥ 0115 |2410.08 15 F P98 | 24.09.25 17 & P98l | 24.08.20 15 ¥ P94l | 24.08.08 21 & il | 24.06.25 14 &  FIAI
WITF =T HEEE %402 402 [ 9% 0000 | F=0000 2% Kbk %% | 24t 2% | 24t 2% | 74XXIE 2% | 2@ KB 2%
- 52.0 .095| ff 55-55 AX01.1.6 [ FH0.00.0 | 3 128 2% AN KW |4 1285E10% 6A s |7 1158 TE 4N 2 9% 5% 2A 4 9FE 1E AN 4}
7|0 | 744va £ | hcE PIH4 1026@ | £40.0.0.0 | F750.0.0.0 | 404 +2 FKEHE 52 (B[ 402 +2 ZHE 55 @O | 400 -2 RZHHE 55 402 +16 ZHE 55 @@ 386 -2 ZFE 55 ©6
(hYZXRT4vY9) i3 188| PI#4 1026@ | A 0.0.0.1 | F+0.0.0.0 | 1000m 4 # 1:03.1 37.9 [ 1000m 4 B 1:03.5 38.8 | 1000m % F 1:03.3 38.1| 1000m 4 #§ 1:02.6 38.4 | 1000m 4 # 1:04.3 39.1
$od o [%]] 0.1.1.6 [ 0.0.1.1 [ 240116 | -@-@---- 38.0 434 (4) 38.3 423 (3) 37.9 233 (8) 38.3 534 (2 37.8 342 (5
BERE 0.0.1.0 | #0513£0580 | £20.0.0.0 | 158 0013 | 741°4(0.6) Ak | £25(1.0) S | YUY A (1.4 SekE | AV)-T-1"0(0.3) Sk | TRYUb U-L(2.2) @K
FRAT Ry F— 42 T |M20006 |F 0005 |2410.1512 ¥ gl | 24.10.01 13 F Pzl | 24.00.24 ¥ P90 [24.00.05 14 FIR] [24.08.22 11 &  Fi%
a45: 228 J&0.000 [ F=o0o001 |HAEREE 2% | 2/ 2% | 2@ 2% | 28 2% | 2% 2%
i 55.0 112 £50006 | FH0.000 |12 1258 8EIIA 12 1258 OBI2A b | HRGH 1288 OF 9 " 1028 6% 8BA 12 1258 8% BA
71(8 TATATT HE | BXxE PIR 1055@ | Z£40.0.0.0 | F750.0.0.0 | 480 +2 BT 55 (G| 478 +6 fR¥F¥ 55 @M | — HIEE 55 472 +2 BEE 55 QO 470 -4 ENE 54 @@
(RTNHFLT7zA—) 4558 17| PR 1055@ | F40.0.0.0 | F+£0.0.0.0 | 1000m 4 B 1:08.1 40.8 | 1000m &# & 1:06.5 39.1 | 1000m % B 1000m # B 1:05.5 39.5| 1000m 4 # 1:07.2 40.6
EBER [#]] 0006 [%0003 240006 |0 ar--©- 38.7 131 (11) 39.1 134 (6) 38.4 38.9 233 (5 38.7 132 (11)
BA% 0.0.0.2 | 0500580 | £ 0.0.0.0 | #85 0000 [ W' 71(4.3) x| 79k 3.3) Pirriv ] Seakse [ /7N HRB.0) EEE | AT-MH-L@A.T)  EkE
EV H2 T |MZ000.2|F 000224100216 F P8l |2400.129 ¥ Mgl
A0 INERAR JA 0000 | F20000 | A—JLVF 2% 2% HE
56.0 .246 £50.0.02 | FH0.000 |5 1288 9% 9N 5+ 10 Hﬁﬁng [YNIP XY
109 LEUTFRIY—R AR FAE 10405 | £40.0.0.0 [ F750.0.0.0 | 426 -4 /nE548 56  G©@ | 430 /NEF#E 55 @@
(B93589 o oAt—) gt 262| FIE 10406) | £40.0.0.0 | F40.0.0.0 | 1000m 4 B 1:04.0 38.9 | 1000m % B 1:07.8 43.0
UE 415 [%]] 0002 [%£0002 240002 -® -®-- 38.6 343 (5 37.9 431 (10)
S F it 0.0.0.2 | 305020580 | £ 0.0.0.0 | #1258 000 1| 14Y»5-Y EN(0.8)  %Ek% | 17711 (5.5) KEX
=P IEE #2112 = =1 Fﬁgo»o»o.l F 0.0.0.1 [24.10.10 18 F g;;ﬂ”
Al JA0.0.0.0 [ F=0.0.0.0 2
Y hF—H— 56.0 .395 H40.001 | FH0.000 |4 958 7% 5A
8 (10 a2| Fynzsayry B’ | 2nE FIE 1025@ | £40.0.0.0 | F750.0.0.0 | 494 P& 55 66
(B4 Y F7 LYY R) 4538 156| FIR 1025@ | B4 0.0.0.0 | F+£0.0.0.0 [ 1000m 4 B 1:02.5 36.8
[k e ] [%€1] 0.0.0.1 | £0.001 [ 240001 | -@------ 37.0 334 (2
FHEIE 0.0.0.0 | 0202080 | £ 0.0.0.0 | 138 0000 [ YWy 1078 -(1.0) %3k
Sw NS RE— 213 % ::: |F9Z0004 |F 0004 [2410.0818 F Pial |24.09.24 13 F I8 | 24.00.11 13 ¥ P98I | 24.08.22 1] & i
IH—FavF4A4R EBE JA0.000 | F=0000 | 2 2% 2 B4t 28 2 45 2% JRAZRE w5
<7 55.0 .208 AX0004 | FE0000 |6 1281% 5A Kb |9 12812% OA Kab | 12 1238 6% 9N 8 1@ 22BN K
8 (11| a1 F+oaFazr B | s 9% 1041®) | £40.0.0.0 | F750.0.0.0 [ 502 -4 E4EFE 55 @O | 506 +2 H45F 55 @O | 504 +2 HAK 55 502 /NEFHR 55 [€O)]
(RyNnyBUNT 1) 558 263| FIH4 1041® | T 0.0.0.0 | F+0.0.0.0 | 1000m 4 # 1:04.1 38.6 [ 1000m & B 1:05.4 40.4 | 1000m & B 1:05.3 40.5 | 1000m 4 ¥4 1:06.2 41.5
AR K [%]] 0004 [%0003 240004 60 ®@-- 3.7 423 (9) 38.6 422 (12) 37.4 311 (12) 39.3 411 (9)
JEid o 0.0.0.2 | 04030380 | £ 0.0.0.0 | &1 000 2| 4 (b-Y7a-4" (1.5) sEiksk | 4/5139(2.5) FEE | T -7 VUG5 KESE | KTV U -2.8) kEiE
P91 4 — K 1000mE4 F Al (SEEHARY : 2022. 10. 21~2024. 10. 20)
33 B¥4 HERS 1% 2% 3&F &5 BE ExtE 44 BF4 HERSK 1% 2% 3F @S BE ExE
2 ERE 493 82 62 59 290 0.166 0.292 9 M 510 32 30 42 406 0.063 0.122
3 EBEE 533 76 65 54 338 0.143 0.265 12 BE® 465 19 22 35 389 0. 041 0.088
4 NG 564 69 80 48 367 0.122 0.264 13 EER 17718 27 19 113 0.102 0.254
5  \IE 349 60 66 54 169 0.172 0.361 18 FEEE 155 6 9 8 132 0.039 0.097
6 BRERE 386 50 68 61 207 0.130 0.306
7 ERE 481 45 58 48 330 0.094 0.214
8 PIEREE 441 32 57 54 298 0.073 0.202
P95 4 — ~1000mi& 4t & Rl (SERHEARS - 2022. 10. 21~2024. 10. 20) RETHE HER 3FARE
[[:30v2 EHES HERS 17& 2% 3/ HH BE eboES 9 (%& 1 2 3 45 6 7 8
1 /UL UR 131 27 15 13 76 0. 206 0.321 ] (3%ME) 24 28 25 26 27 29 28 29
2 E—Zv 86 25 23 10 28 0.291 0.5 0 _______
3 TFIFIVRTILR 105 19 16 8 62 0.181 0.333 7 @ RAIEG
4 IRRT—LIF— 89 16 14 11 48 0.180 0.337 s @ SEIF5AT (534, 544) 5 sk
5 FLo4> 69 16 10 736 0.232 037 ___Z___ g{?%b Eééé 3@8 ?***
6 RRRYF—UT 176 15 21 2 118 0.085 0.205 *
1 TuF—y 93 15 129 5 0.161 0.290 g ®@%®® BLVAZ (335,245) 1 x
8 SYF—TAN 9 14 14 11 60 0.141 0.283 o ___Z___
9 EvI7—H— 83 13 9 12 49 0.157 0.265 %
10 2YRT=vY 63 13 9 10 31 0. 206 0.349 5 ®0®
. B . _ N FREMT o, YEORKERL. HERY BFEELL, TATEIRERTOLERLBALTTFEL,
2024%10A238 P8I 2R EEFIKATREC ! E2@mKkBH v5ILy FR 2% E= 1000m ¥—+-F 5 AEMNSOBM, EHERLET.




